




Class-VI (Pre)/03

[Time : 2.00 Hours] Full Marks  :  400

GOAL TALENT SEARCH EXAM : 08.01.2023

CLASS : VI - PRE EXAM

SCIENCE
01. Motion of the needle of a sewing machine is

______.

(1) Rectilinear (2) Circular

(3) Translational (4) Periodic

02. An electric cell has ________ terminals

(1) One (2) Two

(3) Three (4) No terminal

03. A device that is used to break an electric circuit
is called ______

(1) Switch (2) Filament

(3) Cell (4) Wire

04. Which of the following is a magnetic material :

(1) Cobalt (2) Copper

(3) Silver (4) Gold

05. When a bar magnet is broken, each of the broken
part will have _____ pole/poles :

(1) One (2) Two

(3) Four (4) No pole

06. The length of the ribbon in between
1.15m – 1.45m

(1) 3 cm (2) 300 cm

(3) 3000 mm (4) 300 mm

07. Motion of an object or a part of it around a fixed
point is known as __________ motion.

(1) Rectilinear

(2) Translational

(3) Circular

(4) Both circular and periodic

08. The distance between Delhi and Kolkata is
usually expressed in units of

(1) millimeter (2) centimeter

(3) kilometer (4) decimeter

SCIENCE
01. fl ykbZ e' khu dh l wbZ dh xfr ______ gS A

(1) js[ kh; (2) òÙkh;
(3) LFkkukuUrjh; (4) vkorhZ

02. , d fo| qr l sy esa ________ NksM+ gksrs gSa A
(1) , d (2) nks
(3) rhu (4) dksbZ NksM+ ugha

03. , d ; a=k ft l dk mi ; ksx fo| qr i fj i Fk dks rksM+us ds fy,  fd; k t krk
gS ______ dgykrk gS A
(1) dq¡t h (2) rarq
(3) l sy (4) rkj

04. fuEu esa l s dkSu&pqEcdh;  i nkFkZ gS %
(1) dksckYV (2) rk¡ck
(3) pk¡nh (4) l ksuk

05. t c , d NM+ pqEcd dks rksM+k t krk gS] i zR; sd VwVs gq,  fgLl s esa
_____ / qzo gksaxs :
(1) , d (2) nks
(3) pkj (4) dksbZ / qzo ugha

06. 1.15m – 1.45m ds cht  i Qhrs dh yEckbZ gS
(1) 3 cm (2) 300 cm
(3) 3000 mm (4) 300 mm

07. , d fuf' pr fcUnq ds pkjksa vksj fdl h oLrq ; k ml ds fgLl s dh xfr
dks  __________ xfr dgk t krk gS A
(1) jSf[ kd
(2) yq<+du
(3) òÙkh;
(4) oÙ̀kh;  rFkk vkorhZ nksuksa

08. fnYyh vkSj dksydkrk ds chp dh nwjh l kekU; r% bl  bdkbZ esa O; Dr
dh t krh gS &
(1) ehyhehVj (2) l saVhehVj
(3) fdyksehVj (4) Msl hehVj
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09. Tolu and Molu are playing in a ground. They start
running from the same point A in the ground
and reach point B at the same time by following
the paths marked 1 and 2 respectively as shown
in Fig. below. Which of the following is true for
the given situation.

Tolu

Molu

1

2

B
As compared to Molu, Tolu covers a
(1) longer distance but with a lower speed.
(2) longer distance with a higher speed.
(3) shorter distance with a lower speed.
(4) shorter distance with a higher speed.

10. Filament of a torch bulb is
(1) a metal case.
(2) metal tip at the centre of the base.
(3) two separate thick wires.
(4) a thin wire.

11. A bar magnet is immersed in a heap of iron
filling and pulled out. The amount of iron filling
clinging to the
(1) North pole is almost equal to the south pole.
(2) North pole is much more than the south pole.
(3) North pole is much less than the south pole.
(4) Magnet will be same all along its length.

12. Observe the picture given in Fig. below carefully.

B

Screen

A

Torch

A patch of light is obtained at B, when the torch
is lighted as shown. Which of the following is
kept at position A to get this patch of light?
(1) A wooden board
(2) A rough plastic
(3) A mirror
(4) A sheet of white thin paper.

09. Vksyw vkSj eksyw , d eSnku esa [ kSy jgs gSa A ; s t ehu i j  , d gh fcUnq
A l s nkSM+uk i zkjaHk djrs gSa rFkk fuEu n' kkZ,  x,  fp=kkuql kj  Øe' k%
1 rFkk 2 fpfÉr i Fkksa dk vuql j .k djrs gq,  fcUnq B rd i gq¡prs
gasSA fn,  x,  fLFkfr ds fy,  fuEu esa l s dkSu l R;  gSA

1

2

B
eksyww ds rqyuk esa Vksyw r;  djsxk&
(1) vf/ d nwjh i jUrq de xfr l s A
(2) vf/ d nwjh i jUrq vf/ d xfr l s A
(3) de nwjh i jUrq de xfr l s A
(4) de nwjh i jUrq vf/ d xfr l s A

10. VkWpZ cYo dk fi QykesaV (rarq)  gS&
(1) / krq dk
(2) ryh ds dsUnz i j  / kfRod fl jk
(3) nks vyx eksVk rkj
(4) , d i ryk rkj .

11. , d NM+ pqEcd dks yksgs ds cqjkns ds <s+j esa Mkyk t krk gS rFkk ckgj
fudkyk t krk gS A yksgs ds cqjkns dh ek=kk fpi dsxh&
(1) mÙkjh / qzo i j  nf{k.kh / qzo ds yxHkx cjkcj
(2) mÙkjh / qzo i j  nf{k.kh / qzo l s FkksM+k vf/ d
(3) mÙkjh / qzo i j  nf{k.kh / qzo l s FkksM+k de
(4) pqEcd ds i wjh yEckbZ i j  l eku : i  l s A

12. uhps fn,  x,  fp=k dks è; ku l s nsf• , A

B i j  çdk' k dk , d / Cck çkIr gksrk gS] t c n' kkZ,  vuql kj  VkWpZ
dks t yk; k t krk gSA çdk' k ds bl  i Sp dks çkIr djus ds fy,
fuEufyf• r esa l s fdl s fLFkfr A i j  j • k x; k gS\
(1) , d ydM+h dk cksMZ
(2) , d • qjnjk IykfLVd
(3)  , d ni Z.k
(4)  i rys ' osr i =k dh , d ' khVA
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13. The essential condition for the formation of
shadow is
(1) There should be an opaque material
(2) There should be a source of light and screen
(3) The object must be placed in the path of light
(4) All of these

14. A girl is 300 cm away from the plane mirror. If
she moves few steps closer to the mirror, what
will happen to the image size in the mirror?

300 cm

(1) The size of image will decrease
(2) The size of image will increase
(3) The size of image will be same
(4) Cannot say

15. Study the arrangement of three bar magnets as
shown below. Which arrangement is possible?

(1)

S S

S

(2)

S N

N

(3)

N

N S

(4)
N

N

N

16. Nilu has two bulbs connected across two cells in
a simple circuit as shown. How can she make
the bulb glows dimmer ?

(1) Replace one bulb with a piece of wire
(2) Replace one bulb with another cell
(3) Replace one cell with a piece of wire
(4) Replace one cell with a piece of plastic

13. Nk; k ds fuekZ.k ds fy,  vko' ; d ' krZ gS
(1) , d v i kjn' khZ l kexzh gksuh pkfg, A
(2) çdk' k vkSj i nsZs dk l zksr gksuk pkfg, A
(3) oLrq dks çdk' k ds ekxZ esa vo' ;  j • uk pkfg, A
(4) buesa l s l HkhA

14. , d yM+dh l ery ni Z.k l s 300 l seh nwj gSA ; fn og ni Z.k ds i kl
dqN dne pyrh gS] rks ni Z.k esa çfrfcEc ds vkdkj  dk D; k gksxk\

300 cm

(1) i zfrfcEc dk vkdkj  ?kV t k, xk
(2) i zfrfcEc dk vkdkj  c<+ t k, xk
(3) i zfrfcEc dk vkdkj  l eku gksxk
(4) ugha dgk t k l drk

15. uhps n' kkZ,  x,  rhu NM+++ pqEcd dh O; oLFkk dk vè; ; u djsa A
dkSu&l h O; oLFkk l aHko gS\

(1)

S S

S

(2)

S N

N

(3)

N

N S

(4)
N

N

N

16. uhyw ds i kl  nks cYo] nks cSVfj ; ksa l s l jy i fj i Fk esa t qM+s gS t Sl k
fd fp=k esa n' kkZ; k x; k gS A og cYc dh jkS' kuh dks de dSl s dj
l drh gS \

(1) rkj  ds VqdM+s l s , d cYc dks foLFkkfi r dj
(2) nwl js cSVjh l s , d cYo dks foLFkkfi r dj
(3) rkj  ds VqqdM+s l s , d cSVjh dks foLFkkfi r dj
(4) IykfLVd ds VqdM+s l s , d cSVjh dks foLFkkfi r dj
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17. What causes a moving body to resist a change
in its state of motion ?
(1) Its acceleration (2) Its inertia
(3) Its speed (4) None of these

18. At some places water coming from the
underground contains a lot of dissolved minerals
and is called
(1) Underground water (2) Spring
(3) Natural water (4) All of these

19. Which of the following processes help in transfer
of water to air?
(1) Evaporation (2) Deposition
(3) Transpiration (4) Both (1) and (3)

20. If there are no rains at a place for a long time it
results in
(1) floods
(2) drought
(3) either floods or drought
(4) All of these

21. Match Column - I with Column - II and select
the correct answer using the codes given below
the columns.

Column-I Column - II
(A) Drought (p) Slow process
(B) Surface water (q) Rivers, ponds etc.
(C) Evaporation (r) Loss of water by

plants
(D) Transpiration (s) Absence of rains

for a long time
(1) (A)  (s); (B)  (q); (C)  (p); (D)  (r)
(2) (A)  (r); (B)  (s); (C)  (q); (D)  (p)
(3) (A)  (s); (B)  (p); (C)  (r); (D)  (q)
(4) (A)  (p); (B)  (s); (C)  (r); (D)  (q)

22. Study the venn diagram

Chemical
change

Irreversible
change

Permanent
change

Centre point represents
(1) Melting of ice (2) Boiling of water
(3) Rusting (4) Both (1) & (2)

17. fdl h xfreku oLrq dh] xfr dh fLFkfr esa i fjorZu dk dkj .k ?
(1) bl dk Roj.k (2) bl dk t M+Ro
(3) bl dh xfr (4) buesa l s dksbZ ugha

18. dqN LFkkuksa i j  Hkwfe ds vUnj l s vkus okys t y esa cgqr l kjs [ kfut
?kqys gq,  gksrs gS vkSj bl s dgk t krk gS &
(1) Hkwfexr t y (2) fLi zax
(3) i zkdf̀rd t y (4) buesa l s l HkhA

19. fuEu esa l s dkSu l h i zfØ; k t y dks gok esa LFkkukUrfjr djus esa enn
djrh gS\
(1) ok"i hdj .k (2) fu{ksi .k
(3) ok"i ksRl t Zu (4) (1) rFkk (3) nksuksa

20. ; fn fdl h LFkku i j  yEcs l e;  l s o"kkZ ugha gksrh gS rks bl dk
i fj .kke gS &
(1) ck<+
(2) l w[ kk
(3) ; k rks ck<+ ; k l w[ kk
(4) buesa l s l HkhA

21. LÙkEHk I dk LrEHk II l s feyku djsa rFkk uhsps fn,  x,  fodYi  l s
l gh mÙkj dk p; u djsaA

LÙkEHk-I LÙkEHk - II
(A) l w[ kk (p) / heh i zfØ; k
(B) l rgh t y (q) unh] rkykc bR; kfn
(C) ok"i hdj .k (r) i kS/ ksa }kjk t y dk {k;
(D) ok"i ksRt Zu (s) yEcs l e;  rd o"kkZ dk

vkHkko
(1) (A)  (s); (B)  (q); (C)  (p); (D)  (r)
(2) (A)  (r); (B)  (s); (C)  (q); (D)  (p)
(3) (A)  (s); (B)  (p); (C)  (r); (D)  (q)
(4) (A)  (p); (B)  (s); (C)  (r); (D)  (q)

22. fn,  x,  osu vkjs[ k dk v?; ; u djsaA

eè;  fcUnq n' kkZrk gS &
(1) ci ZQ dk fi ?kyuk (2) t y dk mcyuk
(3) t ax yxuk (4) (1) rFkk (2) nksuksaA
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23. A physical change is a
(1) is a temporary change
(2) change in which no new substance is formed
(3) Irreversible change
(4) Both (1) & (2)

24. Which one is reversible change?
(1) melting of ice candy (2) cooking of food
(3) ripening of mango (4) Both (2) & (3)

25. Cooking of an egg in boiling water containing
salt is a ______.
(1) permanent change (2) Periodic change
(3) irreversible change (4) Both (1) and (3)

26. Which of these plant fibres is obtained from
seeds?
(1) Cotton (2) Jute
(3) Flax (4) Both (2) & (3)

27. Identify X in the given Venn diagram.

Grows in
alluvial

soil

Natural
fibre

Retted

X

(1) Jute (2) Wool
(3) Nylon (4) Both (2) & (3)

28. Which of the following is the leading country for
the production of Jute?
(1) India (2) Bangladesh
(3) Pakistan (4) China

29. In which region cotton was grown by early
Indian?
(1) Regions near river Yamuna
(2) Regions near river Ganga
(3) Regions near river Narmada
(4) Both (2) & (3)

30. Synthetic fibres are those which are
(1) not obtained from natural sources
(2) obtained from plant sources
(3) made from chemical compounds
(4) both (1) & (3)

31. Which of the following substances dissolve in
water?
(1) Vinegar (2) Ethyl alcohol
(3) Petrol (4) Both (1) & (2)

23. HkkSfrd i fjoÙkZu gS &
(1) , d vLFkk; h i fjoÙkZu
(2) i fjoÙkZu ft l esa dksbZ u; k i nkFkZ ugha curk gSA
(3) vuqRØe.kh;  i fjoÙkZu
(4) (1) rFkk (2) nksuksaA

24. buesa l s dkSu mRØe.kh;  i fjoÙkZu gS\
(1) ci ZQ ds VqdM+s dk fi ?kyuk (2) Hkkst u dk i duk
(3) vke dk i duk (4) (2) rFkk (3) nksuksaA

25. , d vaMs dks ued ; qDr mcyrs i kuh esa i dkuk ________ gSA
(1) LFkk; h i fjoÙkZu (2) vkoÙkhZ i fjoÙkZu
(3) vi fjorZuh;  i fjoÙkZu (4) (1) rFkk (3) nksuksa

26. buesa l s dkSu l k i kni  js' kk cht  l s i zkIr fd; k t krk gS\
(1) di kl (2) t wV
(3) ÝySDl (4) (2) rFkk (3) nksuksa

27. fn,  x,  osu vkjs[ k esa X dks i gpkusaA

(1) t wV (2) Åu
(3) ukbykWu (4) (2) rFkk (3) nksuksaA

28. t wV ds mRi knu ds fy,  fuEu esa l s dkSu l k vxz.kh ns' k gS\
(1) Hkkjr (2) ckaXykns' k
(3) i kfdLrku (4) phu

29. i zkjafHkd Hkkjrh;  }kjk di kl  fdl  {ks=k esa mxk; k t krk Fkk\
(1) ; equk unh ds i kl  ds {ks=k
(2) xaxk unh ds i kl  ds {ks=k
(3) ueZnk unh ds i kl  dk {ks=k
(4) (2) rFkk (3) nksuksaA

30. fl UFksfVd js' ks os gksrs gSa t ks &
(1) i zkdf̀rd L=kksr l s ugha i zkIr fd,  t krs gSaA
(2) ouLi fr L=kksr l s i zkIr fd,  t krs gSaA
(3) jkl k; fud ; kSfxdksa l s cus gksrs gSaA
(4) (1) rFkk (3) nksuksaA

31. fuEu esa l s dkSu l k i nkFkZ t y esa ?kqy t krk gS\
(1) fl jdk (2) bFkkby vYdksgy
(3) i sVªksy (4) (1) rFkk (2) nksuksa



Class-VI (Pre)/08

32. Translucent materials are
(1) those through which objects can be seen

clearly
(2) those through which objects can be seen but

not clearly
(3) those through which objects cannot be seen
(4) all of the above

33. What are P, Q and R in the figure?

(1) P-Mixture, Q-Residue, R-Filtrate
(2) P-Mixture, Q-Filtrate, R-Residue
(3) P-Residue, Q-Filtrate, R-Mixture
(4) P-Filtrate, Q-Residue, R-Mixture

34. Oil and Ghee are the product of :
(1) Plants
(2) Animal
(3) Both Plants and Animals
(4) Neither Plants nor Animals

35. Which one of the following statement is incorrect?
(1) Dietary fibres are also known as roughage.

(2) Our body prepares Vitamin D in the presence
of sunlight.

(3) Proteins are also called “energy giving foods”.

(4) Vitamin C gets easily destroyed by heat
during cooking.

36. (i) Weak muscles.

(ii) Very little energy to work.

Above symptoms appear due to deficiency of :

(1) Calcium (2) Vitamin B1

(3) Iron (4) Iodine

37. Which type of venation is present in the leaves
of grass ?

(1) Reticulate (2) Parallel

(3) Both ‘1’ and ‘2’ (4) None of these

38. Choose the incorrect pairs :

(1) Ball and Socket Joint — Elbow

(2) Pivotal Joint — Neck

(3) Hinge Joint — Knee

(4) Fixed Joint — Head

32. i kjHkk"kh i nkFkZ gSa &
(1) og] ft uds }kjk oLrq dks ns[ kk t k l drk gSA
(2) og] ft uds }kjk oLrq dks ns[ kk rks t k l drk gS i jUrq l ki Q ughaA
(3) og] ft uds }kjk oLrq dks ugha ns[ kk t k l drk gSA
(4) mi ; qZDr l Hkh

33. fp=k esa P, Q rFkk R D; k gS\

(1) P-feJ.k, Q-vo{ksi , R-Nuk gqvk rjy
(2) P-feJ.k, Q-Nuk gqvk rjy, R-vo{ksi
(3) P-vo{ksi , Q-Nuk gqvk rjy, R-feJ.k
(4) P-Nuk gqvk rjy, Q-vo{ksi , R-feJ.k

34. rsy vkSj ?kh mRi kn gS %
(1) i kS/ s dk
(2) i ' kq dk
(3) i kS/ s vkSj i ' kqvksa nksuksa dk
(4) u rks i kS/ s vkSj u gh i ' kqvksa dk

35. fuEufyf[ kr dFkuksa esa dkSu vl R;  gS \
(1) vkgkj  js' ks dks] LFkwy [ kk|  Hkh dgk t krk gS A
(2) gekjk ' kjhj l w; Z&i zdk' k dh mi fLFkfr esa foVkfeu D rS; kj  djrs gSaA
(3) i zksVhu dks ¶Åt kZ i znku djus okyk [ kk| ¸  Hkh dgk t krk gS A
(4) Hkkst u i dkrs l e;  foVkfeu C vkl kuh l s v i ?kfVr gks t krs

gSaA
36. (i) det ksj  ekal i sf' k; k¡

(ii) dke djus ds fy,  cgqr de mQt kZ yxkuk A
mi jksDr y{k.k fdl dh deh ds dkj .k i zrhr gksrs gSa %
(1) dSfY' k; e (2) foVkfeu B1
(3) vk; ju (4) vk; ksMhu

37. ?kkl  dh i fÙk; ksa esa fdl  i zdkj  dk f' kjkfoU; kl  gksrk gS \
(1) t kyhnkj (2) l ekukarj
(3) ‘1’ vkSj  ‘2’ nksuksa (4) buesa l s dksbZ ugha

38. xyr ; qXe dks pqusa %
(1) ckWy , oa ' kkWdsV l af/ — dsgquh
(2) i k; oV l af/ — xnZu
(3) dCt k l af/ — ?kqVuk
(4) fu; r l af/ — fl j
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39. How many pairs of legs are present in the
cockroach ?
(1) 2 (2) 3 (3) 4 (4) 5

40. Full form of SBM :
(1) Swachh Bharat Mission
(2) Safal Bharat Mission
(3) Swastha Bharat Mission
(4) Suraksha Bharat Mission

41. A ________ can see six times better at night than
most of us.
(1) Cat (2) Dog
(3) Tiger (4) Sloth bear

42. Which gas is produced when dry leaves and
discarded remains of crop are burnt?
(1) O2 (2) CO2
(3) N2 (4) All of the above

43. Gizzard help in :
(1) Grinding of food materials
(2) Collecting of food materials
(3) Storage of food materials
(4) Removal of excretory products

44. Match the columns :
Column I Column II

(Deficiency disease/ (Mineral/Vitamin)
disorder)
(a) Anaemia (i) Vitamin C
(b) Bone and teeth decay (ii) Iron
(c) Loss of vision (iii) Vitamin A
(d) Scurvy (iv)Calcium
(1) (a-ii), (b-iv), (c-iii), (d-i)
(2) (a-ii), (b-iv,i), (c-i,ii), (d-i)
(3) (a-iii), (b-i), (c-ii), (d-iv)
(4) (a-i), (b-ii), (c-iii), (d-iv)

45. Identify A, B and C in the given figure.

A
B

C

(1) A = Pistil, B = Stamens, C = Anther
(2) A = Pistil, B = Anther, C = Stamens
(3) A = Stamens, B = Pistil, C = Anther
(4) A = Stamens, B = Anther, C = Pistil

39. frypV~Vs esa fdrus ; qXe i Sj  gksrs gSa \
(1) 2 (2) 3 (3) 4 (4) 5

40. SBM dk i w.kZ : i  gS %
(1) LoPN Hkkjr fe' ku
(2) l i Qy Hkkjr fe' ku
(3) LoLFk Hkkjr fe' ku
(4) l qj {kk Hkkjr fe' ku

41. ________, ge esa l s vf/ dka' k dh rqyuk esa jkr esa Ng xq.kk
csgrj  ns[ k l drk gS A.
(1) fcYyh (2) dqÙkk
(3) ck?k (4) LykWFk fc; j

42. t c l w[ ks i Ùkksa vkSj i Ql y ds vo' ks"kksa dks t yk; k t krk gS rks
dkSu&l h xSl  mRi UUk gksrh gS \
(1) O2 (2) CO2
(3) N2 (4) mi jksDr l Hkh

43. i s"k.kh enn djrk gS %
(1) [ kk|  l kexzh dks i hl us esa
(2) [ kk|  l kexzh dks l axzg djus esa A
(3) [ kk|  l kexzh dk HkaMkj.k djus esa A
(4) mRl t hZ mRi knksa dks gVkus esa A

44. l gh feyku djsa %
LrEHk&I LrEHk&II

(deh jksx/fodkj) ([ kfut @foVkfeu)
(a) , uhfe; k@[ kwu dh deh (i) foVkfeu&C

(b) gM~Mh , oa nar {k; (ii) vk; ju
(c) ǹf"V esa deh (iii) foVkfeu&A

(d) LdohZ (iv)dSfY' k; e
(1) (a-ii), (b-iv), (c-iii), (d-i)
(2) (a-ii), (b-iv,i), (c-i,ii), (d-i)
(3) (a-iii), (b-i), (c-ii), (d-iv)
(4) (a-i), (b-ii), (c-iii), (d-iv)

45. fn,  x,  fp=k esa A, B rFkk C dks i gpkus A

A
B

C

(1) A = t k; kax, B = i qadsl j, C = i jkxdks' k
(2) A = t k; kax, B = i jkxdks' k C = i aqdsl j
(3) A = i qadsl j , B = t k; kax, C = i jkxdks' k
(4) A = i qadsl j , B = i jkxdks' k, C = t k; kax
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46. International Yoga day is celebrated on :
(1) 21 June (2) 22 June
(3) 21 July (4) 5 July

47. Small changes that takes place in the body of a
single organism over short period to overcome
small problematic changes in the surroundings
are called :
(1) Adaptation (2) Migration
(3) Acclimatisation (4) Both ‘1’ and ‘3’

48. Yak is found in which region in India ?
(1) Grasslands
(2) Mountain
(3) Desert
(4) Oceans

49. Earthworms are called :
(1) Farmer’s friend
(2) Industrial friend
(3) Animal’s friend
(4) Both ‘1’ and ‘2’

50. Silkworm can find its female by its __________ .
(1) Sound (2) Smell
(3) Colour (4) Both ‘1’ and ‘2’

MATHS
01. Which of the following numbers in Roman

Numerals is incorrect ?
(1) LXII (2) XCI (3) LC (4) XLIV

02. Find the product of 8739 × 102 using distributive
property.
(1) 891378 (2) 791378 (3) 881378 (4) 871278

03. A whole number is added to 25 and the same
number is subtracted from 25. The sum of the
resulting numbers is
(1) 0 (2) 25 (3) 50 (4) 75

04. In figure, XYZ cannot be written as

Y

X

ZP
(1) Y (2) ZXY (3) ZYX (4)XYP

05. The number of obtuse angles in figure is

40°
65°45°

30°
(1) 2 (2) 3 (3) 4 (4) 5

46. vUrjkZ"Vªh;  ; ksx fnol  euk; k t krk gS \
(1) 21 t wu (2) 22 t wu
(3) 21 t qykbZ (4) 5 t qykbZ

47. , d t ho ds ' kjhj  esa de l e;  esa gksus okys NksVs i fjorZu gksrh gS]
okrkoj .k esa i fjorZu ds dkj .k bl  i fjorZu l s dkcw i kus ds fy,
fd; k t krk gS t ks dgykrk gS \
(1) vuqdwyu (2) i zokl
(3) i ; Zuqdwyu (4) ‘1’ rFkk ‘3’ nksuksa

48. Hkkjr ds fdl  {ks=k esa ; kd i k; k t krk gS \
(1) ?kkl  dk eSnku (2) i gkM+h
(3) jsfxLrku (4) l eqnz

49. daspqvk dks dgk t krk gS :
(1) fdl ku dk fe=k (2) vkS| ksfxd fe=k
(3) i ' kqvksa dk fe=k (4) ‘1’ rFkk ‘2’ nksuksa

50. js' ke dk dhV vi us eknk dks bl ds ___________ }kjk [ kkst
l drk gS A
(1) èofu (2) l qxa/
(3) jax (4) ‘1’ rFkk ‘2’ nksuksa

MATHS
01. fuEu esa dkSu l a[ ; k jkseu esa xyr gS\

(1) LXII (2) XCI (3) LC (4) XLIV

02. 8739 × 102 dk xq.kui Qy forj .k xq.k dk mi ; ksx dj Kkr djsaA
(1) 891378 (2) 791378 (3) 881378 (4) 871278

03. 25 esa , d i w.kZ l a[ ; k dk ; ksx fd; k x; k rFkk 25 l s ml h l a[ ; k
dks ?kVk; k x; k] i fj .kkeh l a[ ; k dk ; ksx gS &
(1) 0 (2) 25 (3) 50 (4) 75

04. fp=k esa XYZ dks bl  i zdkj  ugha fy[ kk t k l drkA

Y

X

ZP
(1) Y (2) ZXY (3) ZYX (4)XYP

05. fn,  x,  fp=k esa vf/ d dks.kksa dh l a[ ; k gS &

40°
65°45°

30°

(1) 2 (2) 3 (3) 4 (4) 5
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06. The number of common points in the two angles
marked in figure is ..........................

A

B

C

E

F

RP
G

D

Q

(1) 4 (2) 5 (3) 6 (4) 2
07. The integer ‘5 units to the right of 0 on the

number line’ is
(1) +5 (2) –5 (3) +4 (4) –4

08. The statement “When an integer is added to
itself, the sum is greater than the integer” is
(1) always true
(2) never true
(3) true only when the integer is positive
(4) true for negative integers

09. Find the value of
49 – (–40) – (–3) + 69
(1) 160 (2) 151 (3) 161 (4) 155

10. If we denote the height of a place above sea level
by a positive integer and depth below the sea
level by a negative integer, write 200 m above
sea level using integers with the appropriate
signs.
(1) +200 (2) –200 (3) ±200 (4) None

11. The fraction which is not equal to 
4
5  is

(1)
40
50 (2)

12
15 (3)

16
20 (4)

9
15

12. The mixed fraction 
45
7

 can be expressed as

(1)
33
7

(2)
39
7

(3)
33
4

(4)
39
4

13. The fraction represented by the unshaded
portion in the adjoining figure is

(1)
4
9 (2)

5
9 (3)

6
7

(4)
3
8

06. fp=k esa fpfg~ur nks dks.kksa esa l kekU;  fcUnqvksa dh l a[ ; k  ..................
gSA

A

B

C

E

F

RP
G

D

Q

(1) 4 (2) 5 (3) 6 (4) 2

07. l a[ ; k js[ kk i j  0 ds ck, ¡  5 bdkbZ vad i j  gS &
(1) +5 (2) –5 (3) +4 (4) –4

08. ^̂ t c fdl h vad dks v i us esa t ksM+us i j  ; ksx ml  vad l s
vf/ d gS** ; g dFku &
(1) ges' kk l R;  gSA
(2) dHkh l gh ugha gSA
(3) l R; ] dsoy t c vad / ukRed gksA
(4) Í .kkRed vad ds fy,  l R;  gSA

09. eku Kkr djsa &
49 – (–40) – (–3) + 69
(1) 160 (2) 151 (3) 161 (4) 155

10. ; fn ge fdl h LFkku dh Å¡pkbZ dks l eqnz ry l s Åi j  / ukRed vad
l s rFkk xgjkbZ dks l eqnz ry l s uhps Í .kkRed vad l s l wfpr djrs
gSa rks l eqnz ry l s 200 m Åi j  vad dk mi ; ksx dj  l gh fpg~u
ds l kFk fy[ ksaA
(1) +200 (2) –200 (3) ±200 (4) dksbZ ugha

11. og fHkUu t ks 
4
5  ds cjkcj  ugha gS &

(1)
40
50 (2)

12
15 (3)

16
20 (4)

9
15

12. feJ fHkUu 4
5

7
 dks bl  i zdkj  fy[ kk t k l drk gS &

(1)
33
7

(2)
39
7

(3)
33
4

(4)
39
4

13. l ayXu fp=k esa vNk; kafdr Hkkx dks fHkUu ds }kjk fu: fi r fd; k t k
l drk gS &

(1)
4
9 (2)

5
9 (3)

6
7

(4)
3
8
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14. When Nisha weighed herself on Monday, she

found that she had gained 
11 kg.
4

 Earlier her

weight was 
346
8  kg. What was her weight on

Monday ?

(1)
547 kg
8 (2)

546 kg
8

(3)
545 kg
8 (4)

244 kg
8

15. Match the fractions of Column-I with the shaded
or marked portion of figure of Column-II :

Column-I Column-II

(I)
6
8 (A)

0 1 2

(II)
6

10 (B)

(III) 
6
6 (C)

(IV) 
6

16 (D)

(E)

(1) I  D, II  A, III  E, IV  B
(2) I  E, II  B, III  D, IV  C
(3) I  D, II  C, III  A, IV  E
(4) I  A, II  B, III  C, IV  B

16. Using tally marks, which one of the following
represents the number eight :

(1) (2) (3) (4)

17. The marks (out of 10) obtained by 28 students in
a Mathematics test are listed as below :
8, 1, 2, 6, 5, 5, 5, 0, 1, 9, 7, 8, 0, 5, 8, 3, 0, 8, 10,
10, 3, 4, 8, 7, 8, 9, 2, 0
The number of students who obtained marks
more than or equal to 5 is
(1) 13 (2) 15 (3) 16 (4) 17

14. t c fu' kk us l kseokj  dks v i uk ot u fd; k ml us i k; k fd
1

1 kg.
4

 c<+ x; kA i gys ml dk ot u 
346
8  kg FkkA l kseokj dks

ml dk ot u D; k Fkk\

(1)
547 kg
8 (2)

546 kg
8

(3)
545 kg
8 (4)

244 kg
8

15. LrEHk&I ds fHkUu dks LrEHk-II ds Nk; kafdr fp=k l s feyku djsaA
LrEHk-I LrEHk-II

(I)
6
8 (A)

0 1 2

(II)
6

10 (B)

(III) 
6
6 (C)

(IV) 
6

16 (D)

(E)

(1) I  D, II  A, III  E, IV  B

(2) I  E, II  B, III  D, IV  C

(3) I  D, II  C, III  A, IV  E

(4) I  A, II  B, III  C, IV  B

16. VSyh fpg~u dk mi ; ksx dj ] fuEu esa l s dkSu l a[ ; k vkB dks fu: fi r
djrk gS &

(1) (2) (3) (4)

17. xf.kr dh i jh{kk esa 28 Nk=kksa }kjk i zkIr vad (10 vadksa esa)  dk uhps
l kj .kh gS &
8, 1, 2, 6, 5, 5, 5, 0, 1, 9, 7, 8, 0, 5, 8, 3, 0, 8, 10,
10, 3, 4, 8, 7, 8, 9, 2, 0

oSl s Nk=k t ks 5 l s vf/ d vkSj cjkcj  vad i zkIr fd,  gSa &
(1) 13 (2) 15 (3) 16 (4) 17



Class-VI (Pre)/013

18. The side of a square is 10 cm. How many times
will the new perimeter become if the side of the
square is doubled ?
(1) 2 times (2) 4 times (3) 6 times(4) 8 times

19. Perimeter of an isosceles triangle is 50 cm. If
one of the two equal sides is 18 cm, find the
unequal side.
(1) 12 cm (2) 16 cm (3) 14 cm (4) 18 cm

20. The length of a rectangular field is twice its
breadth. Gaurav jogged around it four times and
covered a distance of 6km. What is the length of
the field ?
(1) 500 m (2) 400 m (3) 700 m (4) 450 m

21. A wire is cut into several small pieces. Each of
the small pieces is bent into a square of side
2cm. If the total area of the small squares is 28
square cm, what was the original length of the
wire ?
(1) 56 cm (2) 59 cm (3) 62 cm (4) 61 cm

22. If each match box contains 50 matchsticks, the
number of matchsticks required to fill n such
boxes is
(1) 50 + n (2) 50 n (3) 50 ÷ n (4) 50 – n

23. The area of a square having each side x is
(1) x × x (2) 4x (3) x + x (4) 4 + x

24. I think of a number and on adding 13 to it, I get
27. The equation of this is
(1) x – 27 = 13 (2) x – 13 = 27
(3) x + 27 = 13 (4) x + 13 = 27

25. Kanta has p pencils in her box. She puts q more
pencils in the box. The total number of pencils
with her are

(1) p + q (2) p q (3) p – q (4)
p
q

26. If the present age of Santosh is n years, then
his age after 7 years will be _______.
(1) n + 8 (2) n + 7 (3) n + 6 (4) n – 7

27. Mathematics textbook for class VI has 320 pages.
The chapter ‘symmetry’ runs from page 261 to
page 272. The ratio of the number of pages of
this chapter to the total number of pages of the
book is
(1) 11 : 320 (2) 3 : 40
(3) 3 : 80 (4) 272 : 320

28. If a bus travels 160 km in 4 hours and a train
travels 320 km in 5 hours at uniform speeds,
then the ratio of the distances travelled by them
in one hour is
(1) 1 : 2 (2) 4 : 5 (3) 5 : 8 (4) 8 : 5

18. fdl h oxZ dh Hkqt k 10 cm gSA ubZ i fj f/  fdruh xquh gks t k, xh
; fn oxZ dh Hkqt k dks nksxquh dj  nh t k, \
(1) 2 xquh (2) 4 xquh (3) 6 xquh (4) 8 xquh

19. fdl h l ef}ckgq f=kHkqt  dh i fj f/  50 cm gSA ; fn nks cjkcj Hkqt kvksa
esa , d 18 cm gS rks mudh vl eku Hkqt k Kkr djsaA
(1) 12 cm (2) 16 cm (3) 14 cm (4) 18 cm

20. fdl h vk; rkdkj  {ks=k dh yEckbZ bl dh pkSM+kbZ dk nksxquk gSA xkSjo
bl ds pkjksa vksj  pkj  ckj  pDdj yxkrk gS rFkk 6 km dh nwjh r;
djrk gSA {ks=k dh yEckbZ D; k gS\
(1) 500 m (2) 400 m (3) 700 m (4) 450 m

21. fdl h rkj  dks NksVs VqdM+s esa dkVk x; kA i zR; sd NksVs VqdM+s dks
2cm Hkqt k okys oxZ esa eksM+k x; kA ; fn NksVs oxksZ dk i w.kZ {ks=ki Qy
28 oxZ cm gS] rkj  dh okLrfod yEckbZ D; k Fkh\
(1) 56 cm (2) 59 cm (3) 62 cm (4) 61 cm

22. ; fn i zR; sd ekfpl  ds MCcs esa 50 frfy; k gS] n , sl s MCcs dks Hkjus
ds fy,  frfy; ksa dh vko' ; drk gS &
(1) 50 + n (2) 50 n (3) 50 ÷ n (4) 50 – n

23. i zR; sd Hkqt k x okys oxZ dk {ks=ki Qy gS &
(1) x × x (2) 4x (3) x + x (4) 4 + x

24. eSus , d l a[ ; k l kspk rFkk bl esa 13 t ksM+k] eSus  27 i k; kA bl dk
l ehdj.k gS &
(1) x – 27 = 13 (2) x – 13 = 27

(3) x + 27 = 13 (4) x + 13 = 27

25. dkark ds fMCcs esa p i safl ysa gSaA og fMCcs esa q vkSj i safl ysa j • rh gSA
ml ds i kl  i safl yksa dh dqy l a[ ; k gS

(1) p + q (2) p q (3) p – q (4)
p
q

26. ; fn l arks"k dh oÙkZeku vk; q n o"kZ gS] rks 7 o"kksZa ckn ml dh mez
_______ gksxhA
(1) n + 8 (2) n + 7 (3) n + 6 (4) n – 7

27. oxZ VI ds xf.kr dh fdrkc esa 320 i "̀B gSaA vè; k;  dk l kjka' k i "̀B
261 l s 272 rd gSA bl  vè; k;  ds i "̀Bksa rFkk fdrkc ds dqy i "̀Bksa
dk vuqi kr gS &
(1) 11 : 320 (2) 3 : 40

(3) 3 : 80 (4) 272 : 320

28. ; fn cl  4 ?kaVs esa 160 km rFkk Vªsu 5 ?kaVs esa 320 km ,d l eku
xfr l s r;  djrk gS rks , d ?kaVs esa muds }kjk r;  dh xbZ dk vuqi kr
gS&
(1) 1 : 2 (2) 4 : 5 (3) 5 : 8 (4) 8 : 5
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29. The number of  lines of symmetry in a
30° – 60° – 90° set triangle is
(1) 0 (2) 1 (3) 2 (4) 3

30. In the following figures, the figure that is not
symmetric with respect to any line is.

(i) (ii) (iii) (iv)

(1) (i) (2) (ii) (3) (iii) (4) (iv)

REASONING
01. Select a figure from the options which will

complete the pattern in Fig. (X) ?

Fig. (X)

?

(1) (2)

(3) (4)

02. In the following question, select a figure from
the options which will complete the pattern in
Fig. (X).

?

Fig. (X)

(1) (2)

(3) (4)

29. f=kHkqt  30° – 60° – 90° esa l ekurk dh js[ kkvksa dh l a[ ; k gS &

(1) 0 (2) 1 (3) 2 (4) 3

30. fuEu fp=k esa] og fp=k t ks fdl h js[ kk ds l ki s{k l efer ugha gS

(i) (ii) (iii) (iv)

(1) (i) (2) (ii) (3) (iii) (4) (iv)

REASONING
01. fodYi ksa esa l s , d vkdf̀r dk p; u djsa t ks fp=k (X) esa fn,  x,

i SVuZ dks i wjk djsxk\

(1) (2)

(3) (4)

02. fuEufyf[ kr i z' u esa fodYi ksa esa l s , d vkdf̀r dk p; u djsa t ks
fp=k (X) esa fn,  x,  i SVuZ dks i wjk djsxkA

(1) (2)

(3) (4)
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03. In the following question, select a figure from
the options which completes the figure matrix.

?

(1) (2)

(3) (4)

04. In the following question, find out which of the
alternatives (1), (2), (3) or (4) indicates the correct
relationship between the three given words?
Doctor, Nurse, Human being

(1) (2)

(3) (4)

05. In the following question, a transparent sheet
Fig. (X) with a pattern and a dotted line on it is
given. If the sheet has to be folded along the
dotted line, then which one of the option figures
(1), (2), (3), (4) would represent the pattern on
the folded sheet.

Fig. (X)

(1) (2)

(3) (4)

03. fuEufyf[ kr i z' u esa fodYi  l s , d vkdf̀r dk p; u djsa t ks fp=k
vkO; wg dks i wjk djrk gksA

?

(1) (2)

(3) (4)

04. fuEufyf[ kr i z' u esa] i rk yxk, ¡ dh dkSu l k fodYi  (1), (2), (3)
; k (4) fn,  x,  rhu ' kCnksa ds chp l gh l aca/  n' kkZrk gSA
MkWDVj] ul Z] euq";

(1) (2)

(3) (4)

05. fuEufyf[ kr i z' u esa] , d i kjn' khZ ' khV fp=k (X) ft l esa , d i SVuZ
vkSj ml  i j  , d fcanhnkj  js[ kk nh xbZ gSA ; fn ' khV dks fcanhnkj  js[ kk
ds l kFk eksM+uk gS] rks dkSu l h fodYi  vkdf̀r (1), (2), (3), (4)
eqM+h gqbZ ' khV i j  i SVuZ dks n' kkZ, xkA

(1) (2)

(3) (4)
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06. P, Q, R and S are playing cards. P, R and Q, S are
partners. If Q is in the North of S and P is in the
west of R, then the position of R with respect of S
is ____
(1) North- East (2) North - West
(3) South (4) North

07. I f  the following numbers are written in
descending order, then what will be the middle
digit of the middle term?

723, 789, 585, 659, 713, 785, 689
(1) 1 (2) 7 (3) 8 (4) 3

08. If ‘+’ and ‘–’ are interchanged and ‘4 and 8’ are
interchanged, then which of the following is
correct?
(1) 4 + 6 – 3 + 9 = – 4 (2) 8 + 8 – 4 – 4 = 8
(3) 9 + 7 + 6 – 4 = 6 (4) 4 + 8 – 4 + 8 = 6

09. Three of the following four are alike in some way
and so form a group. Which is one that does not
belong to that group ?
(1) January (2) December
(3) June (4) August

10. In the following question insert the missing
number in place of question mark from the given
alternatives.

4 7 3 2
416 749 309 ?

(1) 204 (2) 104 (3) 404 (4) 401
11. Using the below table, identify the correct

expression.

P Q R S
   

(1) 17Q8S9P18R2 = 46
(2) 18S30R6Q5P0 = 85
(3) 27Q10R5S4P3 = –32
(4) All of these

12. Find the missing number from the options which
will replace the question mark (?) in the given
patterns.

7 11 13
15 23 27
484 1156 ?

(1) 1300 (2) 1500 (3) 1400 (4) 1600
13. In the words given below, choose the one that

comes first, when arranged in alphabetical order
as in dictionary.
(1) Routine (2) Regular
(3) Recede (4) Recover

06. P, Q, R vkSj  S rk' k [ ksy jgs gSA  P, R vkSj  Q, S l k>snkj  gSA ; fn
Q, S ds mÙkj esa gS vkSj P, R ds i f' pe esa gS] rks S ds l UnHkZ esa
R dk LFkku ________ gSA
(1) mÙkj & i woZ (2) mÙkj & i f' pe
(3) nf{k.k (4) mÙkj

07. ; fn fuEufyf[ kr l a[ ; kvksa dks vojksgh Øe esa fy[ kk t k, ] rks e?;
i n dk e?;  vad D; k gksxk\

723, 789, 585, 659, 713, 785, 689
(1) 1 (2) 7 (3) 8 (4) 3

08. ; fn ‘+’ vkSj  ‘–’ dks vki l  esa vnyk cnyh dj  fn; k t krk gS vkSj
‘4 vkSj  8’ dks vki l  esa cny fn; k t krk gS rks fuEufyf[ kr esa l s
dkSu l k l gh gS\
(1) 4 + 6 – 3 + 9 = – 4 (2) 8 + 8 – 4 – 4 = 8
(3) 9 + 7 + 6 – 4 = 6 (4) 4 + 8 – 4 + 8 = 6

09. fuEufyf[ kr pkj  esa rhu fdl h rjg l s l eku gSa vkSj bl fy,  , d
l ewg cukrs gSa A buesa l s dkSu ml &l ewg l s l Ecaf/ r ugha gS \
(1) t uojh (2) fnl Ecj
(3) t wu (4) vxLr

10. fuEufyf[ kr i z' u esa fn,  x,  i z' u fpg~u ds LFkku i j  yqIr l a[ ; k
dks l fEefyr dhft , A

4 7 3 2
416 749 309 ?

(1) 204 (2) 104 (3) 404 (4) 401

11. uhps nh xbZ rkfydk dk mi ; ksx djrs gq, ] l gh vfHkO; fDr dh
i gpku djsaA

P Q R S
   

(1) 17Q8S9P18R2 = 46
(2) 18S30R6Q5P0 = 85
(3) 27Q10R5S4P3 = –32

(4) bueas l s l HkhA
12. fodYi ksa l s yqIr l a[ ; k Kkr dhft ,  t ks fn,  x,  i SVuZ esa i z' uokpd

fpUg (?) dks i zfrLFkkfi r djsxkA

7 11 13
15 23 27
484 1156 ?

(1) 1300 (2) 1500 (3) 1400 (4) 1600

13. uhps fn,  x,  ' kCnksa esa] i gys vkus okys ' kCnksa dks ' kCndks' k ds
vuql kj  o.kkZuqØe esa O; ofLFkr djsaA
(1) Routine (2) Regular
(3) Recede (4) Recover
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14. Find the missing number

5

25

49

7

1

?

64 8

(1) 1 (2) 2 (3) 3 (4) 4
15. A is D's brother. D is B's father. B and C are

sisters. How is A related to C ?
(1) Son (2) Uncle
(3) Father (4) Grandson

16. If you rearrange the letters 'BARBIT'; you would
have the name of a/an _________.
(1) ocean (2) country
(3) animal (4) city

17. In the question, rearrange the letters of given
word in the alphabetical order. Choose the
correct order and select the correct option.
SCHOOL
(1) CHSOOL (2) CHLOOS
(3) CHLSOO (4) CLOOSH

18. In the question arrange the given words in a
meaningful sequence and then choose the most
appropriate order from the given four
alternatives.
1. Cow 2. Ghee 3. Butter
4. Churn 5. Milk
(1) 5, 4, 3, 2, 1 (2) 3, 4, 2, 1, 5
(3) 2, 3, 4, 5, 1 (4) 1, 5, 4, 3, 2,

19. In the question, select a figure from the options
which complete the figure matrix.

(1) (2) (3) (4)

20. Problem Figures

(A) (B) (C) (D)

Answer Figure

(1) (2) (3) (4)

14. yqIr l a[ ; k Kkr dhft ,
5

25

49

7

1

?

64 8

(1) 1 (2) 2 (3) 3 (4) 4
15. A, D dk HkkbZ gSA D, B dk fi rk gSA B vkSj C cgusa gSaA A, C

l s fdl  çdkj  l acaf/ r gS\
(1) csVk (2) pkpk
(3) fi rk (4) i ksrk

16. ; fn vki  'BARBIT' v{kjksa dks i quO; ZofLFkr djrs gSa_ vki ds i kl
, d _________ dk uke gksxkA
(1) egkl kxj (2) ns' k
(3) i ' kq (4) ' kgj

17. ç' u esa fn,  x,  ' kCn ds v{kjksa dks o.kkZuqØe esa i quO; ZofLFkr djsaA
l gh Øe pqusa vkSj l gh fodYi  dk p; u djsaA
SCHOOL
(1) CHSOOL (2) CHLOOS
(3) CHLSOO (4) CLOOSH

18. ç' u esa fn,  x,  ' kCnksa dks l kFkZd Øe esa O; ofLFkr djsa vkSj fi Qj
fn,  x,  pkj  fodYi ksa esa l s l cl s mi ; qÙkQ Øe pqusaA
1. xk; 2. ?kh 3. eD[ ku
4. eFkuk 5. nw/
(1) 5, 4, 3, 2, 1 (2) 3, 4, 2, 1, 5
(3) 2, 3, 4, 5, 1 (4) 1, 5, 4, 3, 2,

19. ç' u esa] fodYi ksa esa l s , d vkÑfr dk p; u djsa t ks vkÑfr
eSfVªDl  dks i wjk djrh gSA

(1) (2) (3) (4)

20. i z' u fp=k

(A) (B) (C) (D)

mÙkj  fp=k

(1) (2) (3) (4)
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Correction and Modification
Though every caution has been taken in preparing question and their answer of GTSE Pre Paper, if you find any error in our
question or answer or in both of them, then suggest the correct one with reference of book and explanation. Your suggestion
will be sent to expert of respective subject and may be corrected in case of right claim. You can go on the following two links
(i) www.gtse.in and click on correction and modification button
(ii) mail us on test.goalpatna@gmail.com

Mention the following details:
Class, Name, Roll No., Q. No., Subject-Phy, Chem, Reasoning, Bio/ Math, Contact No. and Explanation of the mistake.

Note: All the request will be accepted till 10th January 2023 till 11:59 PM.
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